1x 3" Hole Saw
1x 55mm Hole Saw

1x Hole Saw Arbor

4x #16 Hose Clamps

4x #10 Hose Clamps

2x #6 Hose Clamps

1x Blower Switch

2x 7/16" Washer

2x 5/16-18x5" Bolts 14
2x 5/16x18 Nuts
4x #Sx:ljz Lath Drill aa p\ R422
Point Screws
4x #10x1/2" Screws TFI835
10x #8x1/2" Screws TIIY TITYN 334
6x 1/8" Black 1'1'1
Pop-Rivets T 1451

1x 32mm Grommet

o

1Xx 1" Y Fittings /" 243

1x 3-Way Ball Valve

1x Switch Nut
2x #2 Knobs

888-964-0135

d000LdNOH-D-HN-HDDI

}1)| 191e3H axn|2g Q00| 123uUold EpPUOH +8|

11f of 5/8
Heater Hose

476

1x Honda Pigtail

214

30x 11" Cable Ties

215

I’lgv"'

4x 15" Cable Ties

Heat Control Kit



1011

QQ

Defrost Vent Brackets

1x Heater Unit
1012

1139

Face Plate

Center Vent Brkts
507

602 601

1x 3" Grille and
Connector

N w
SRR \m\m w2222

8" 3" Duct Hose

(compressed )
= L 1

4x 3" Vents .. . .
502
2x 2" Vents . .501

QQQ-

3x 50mm
Connectors

30" 2" Duct Hose
(compressed )


Scott Heupel

Scott Heupel

Scott Heupel


888-964-0135
18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.

‘ Shift and Drive Seiec

[+ To prevent drivetrain damage. bring the unit to a comy
select lever (L - H - N - 7 - P} and drive mode seiect iey

Please read all instructions before beginning installation. When working on cooling systems always allow the
vehicle to cool to avoid being burned or scalded by hot coolant. Always disconnect vehicle’s negative battery
lead before working on electrical systems. This kit is reasonably complex to install. Competent mechanical skills
are required.

Please note: Before drilling any holes check area behind firewall/dash panels to make sure no damage or
interference with equipment will occur by drilling holes and fitting of vents, hoses, wiring etc.

Remove hood. Disconnect battery and remove. Unclip all electrical components and loom from under hood area,
push components and loom up into dash area. Dismantle and remove front fenders, lights and grille assembly as
one piece from UTV as shown in Figure 1. Remove Aux. Power plug assembly.

Please Note: Before drilling any holes check area behind firewall/dash panels to make sure no damage will occur
by drilling holes or that no part will interfere with the installing of vents. There may be interference issues due to a

manufacturer’s changes in design.

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17



http://www.utvheaters.com/

18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.
Use the Heater Mounting Template and place it the flat area of the firewall just below w ere the Aux. Power plug
assembly was located, as shown in Figure 2. Mark out hole centers as shown in Figure 2, drill holes to size stated.

Please note: Because of the dash design the best position in the dash to place the center heater vents is
where the manufacturer mounts the "Warning" placard. If the placard is removed to install vents it is the
installer/customer’s responsibility to relocate the placard to a position that is visible to users of the UTV.

Drill out and remove pop-rivets holding main dash “Warning” placard. This placard is made from aluminum and is
also stuck to the dash with adhesive. Carefully using a tool like a sheetrock/putty knife insert between placard dash
panel and carefully separate placard from dash.

Clean remaining adhesive from dash panel. Using the supplied center vent template mark out hole centers, drill
vent holes using supplied 3” hole saw and switch/heat control holes as shown in Figure 4. Tip: Use a knife to
remove burs and chamfer from the drilled holes to help with fitting of the vents. Place red switch bezel over switch
holes, place center vent plate in to place attach using the supplied black pop-rivets. Trim vent holes if needed to
match vent plate.

Remove left and right cup holders from dash as shown in Figure 5. Remove excess from tabs as shown in Figure 6. If
you do not want to remove cup holders skip this step.

Use supplied RH lower vent template to mark the position of the lower vent on passenger side of under dash. Drill
vent hole using supplied 55mm hole saw as shown in Figure 7.

Using Figure 8 as a guide, drill vent hole using supplied 55mm hole saw as shown just below steering wheel
column.

Using Figure 9 as a guide and the 3” intake grille to determine the correct position, drill vent hole using supplied 3”
hole saw as shown on the very right side of the passenger side of the under dash. Fit 3” fitting and secure using
four of supplied #8 x 1/2” screws. Clip into place 3” intake grille.

Using Figure 10 as a guide cut duct hoses to length (lengths measured with the duct hose in its compressed state,
measure and cut accordingly) Make up hoses assemblies using supplied Y connectors as shown in Figure 10

Tip: To attach duct hoses to Y’s and/or Vents either twist Duct Hose or Vents in a “screw” action. Use cable ties
around all duct hose connections.

Note: If not using defrost vents in the cup holder holes route two duct hoses from the heater to the center vents.

Using Figures 11a and 11b as a guide route 3” duct hose from 3” intake grille fitting to the center of the UTV as
shown. Stretch hose as you route the hose to ensure you have enough hose to complete the installation. Use the
supplied 15”cable tie around the duct hose connection.

Route all the 2” duct hose from the center of the UTV to the correct vent positions as required between the frame
and dash as shown in Figures 12. Stretch hose as you route the hose to ensure you have enough hose to complete
the installation. For the vents fitted in the cup holder holes use supplied brackets to hold vents position. Use
supplied the large head #8x % screws to attach the brackets as shown in Figure 13. Pull 2” duct hoses through the
drilled vent holes and cup holder holes, attach the correct size vent to the duct hoses. Use cable ties around all
duct hose connections. Clip vents into position.

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17



http://www.utvheaters.com/

18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.
Using the supplied heater face plate fit to heater, attach the three 50mm connectors to face plate using six supplied
#8 x %" screws as shown in Figure 14.

Fit heater into position on the firewall, attach duct hoses to the 50mm connecters on heater. Use cable ties around
all duct hose connections. Attach 3” duct hoses to the Intake connector on heater. Use the supplied 15”cable tie
around the intake duct hose connection as shown in Figure 15. Align the heater with the holes drilled in the
firewall. With an assistant, from the inside of cab install the 5/16”x5” bolts through the firewall and heater box, fit
and tighten supplied 5/16 nuts as shown in Figure 15.

Take supplied 5/8” heater hose and attach both ends to the heater fittings, do not cut hose to do this, secure with
supplied # 10 hose clamps. Please Note: Be sure to remove factory shipping plugs from heater fittings if so fitted.

Drain cooling system by removing lower radiator hose. Important Tip: If you have the equipment to clamp off the
hoses where the heating fitting is to be installed you won’t have to drain cooling system.

Locate the lower radiator hose at the front of the UTV, cut radiator hose as shown in Figure 16a removing
approximately a 1” to 1.5” section of the hose. Insert the Y connector exactly in the radiator hose as shown in
Figure 16b and Figure 18.

Locate the hose shown in Figure 17a under engine cover of the UTV, cut radiator hose as shown in Figure 17a and
Figure 17b removing approximately a 1” to 1.5” section of the hose. Insert the 3 Way Ball Valve as shown in Figure
17a and 17b. Secure it using the two #6 Hose Clamps.

Route the lower of the heater hoses over to Y fitting in lower radiator hose. Cut heater hose to length.

Route the remaining heater hose up to the 3 Way ball valve at the engine. Cut heater hose to length. Connect
using a #10 Hose Clamp. Please Note: Make sure all hoses are as far away as possible from driveshaft, steering
shaft, sharp objects and the exhaust system, etc. Use supplied cable ties as necessary to secure hoses.

Route the in cab heat control cable and control assembly to control mounting hole. Install control. Fit 7/16 washer
and switch nut, tighten nut and fit knob. Cut and install control valve in the heater hose that goes to the engine Y
Fitting as shown in Figure 19.

Relocate the Aux. Power plug to the top of the center cubby as shown in Figure 20. Fit supplied grommet plug into
the factory Aux. Power plug hole now not used.

Use the Honda Wiring Pigtail and connect it between the Aux plug and it's original connector. Plug the heater
wiring harness into the 2-pin connector on the pigtail.

Connect the White 4 Pin connector on the heater harness to the heater connector plug.

Connect the 5-pin black connector to the heater switch and insert into the 7/16" mounting hole. Install Red
bezel then Black bezel, 7/16 washer and switch nut.

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17



http://www.utvheaters.com/

18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.

Important: Refill cooling system as per manufacturer’s procedure. Reconnect battery. Start and run the
vehicle at a fast idle and run up to normal operating. Check for leaks. Check operation of heater.

Reassemble UTV as required. Reconnect battery, turn key on to check fan operation,

Allow vehicle to cool and recheck cooling system level and coolant ratio, fill as required.

Refill cooling system as per manufacturer’s procedure. Start and run the vehicle at a fast idle and run up to
normal operating temperature. Check for leaks. Check heater operation. Allow vehicle to cool and recheck
cooling system level and coolant ratio, fill and/or alter coolant ratio as required.

If the heater fails to blow hot/warm air once the vehicle is up to operating temperature, there may be an air
lock in the heater unit. Temporarily block off the top/inlet radiator hose at radiator. Start and run vehicle up to
operating temperature. Feel the outlet/lower hose from heater until it feels hot. The heater now should be
blowing hot/warm air. Remove clamp from radiator hose. The heater should continue to blow hot/warm air.
This procedure may have to be repeated a few times to remove air from system. Allow vehicle to cool, restart
the vehicle and run up to operating temperature, recheck heater operation. Please note: Heater output will be
limited at idle, all testing should be done at a fast idle.

OFF (Summer) ON (Winter)

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17



Scott Heupel


Figure 1



Kit.
18+ Honda Pioneer 1000 Delue Under Hood Ice Crusher Heate

7
7R

www.utvheaters.com

Improper Use of Off-Highway Vehicles Can Cause Severe Injury or Death

Be Prepared

Fasten seat

B‘s- Sure Riders Pay Af 10N and Plan Ahead
I you think or fey nay tip Il
e

Locate ang Ry

ead Owner's Manual
Follow All Insty

Figure 3
ICCH-UH-C-HONP1000D

«Avo riding across siopes)
Rollovers haye Caused severe injuries /
and death, even on flat, open areas, y/

uctions and Warnings D

Ver. 11/10/17


http://www.utvheaters.com/

18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.

Shift and Drive Seiec
[ To prevent drivetrain damage. bring the unit to a comy
select lever (L - H - N - B - P) and drive mode seiect ey

Figure 4

Figure 5

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17



http://www.utvheaters.com/

18+ Honda Pioneer 1000 Deluxe Under Hd Ice Crusher Heater Kit.

Figure 6

Figure 7

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17



http://www.utvheaters.com/

18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.

Figure 8

Figure 9

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17



http://www.utvheaters.com/

18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.

ALlN o juold

JUSA [89YM
Buliea)s mojag

JUBA .2

JUsA .€ JUsA €

Jua/ Jsoleq Hl

S9SOH JUBA
19]e9H 000} EPUOH

SUEY WEIIETe)

JUSA €

JUSA
yseq Jemo1 HY

JUSsA ¢

JUSA €
JUsA Jsoad HY

Figure 10

Ver. 11/10/17

ICCH-UH-C-HONP1000D

www.utvheaters.com



18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.
- ST S : SHEIEETs

Figure 11a

Figure 11b

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17




18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.

- — .

Figure 13

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17



http://www.utvheaters.com/

18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.

Figure 14

Figure 15

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17




18+ Honda Pineer 1000 DequUnder Hodlce Crusher Heaer Kit.

Figure 16b

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17




18+ Honda Ploneer 1000 Deque Under Hood Ice Crusher Heater Kit.

\ J - Vehicle
>

:,
I“
r}!
| 8

-
5/8" Heater
Hose

Figure 17b

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17




18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.

[top hose flow —> ﬁ =2

e —

Figure 18
\\vl, ... 7‘ //' : : ‘
’ .’ " \ 4

Figure 19

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17



http://www.utvheaters.com/

18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.

s R T PR SN

Figure 20

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17



http://www.utvheaters.com/

18+ Honda Pioneer 1000 Deluxe Under Hood Ice Crusher Heater Kit.

HEATER WARRANTY - utvheaters.com and coupersproducts.com
*Couper’s Products/UTV Heaters.com Heater Warranty. 3 Year/36 Month Limited Warranty

Couper’s Products warrants your UTV Heater System to be free from defects in material and craftsmanship under
normal use and service by the original consumer purchaser (end user) for a period of Three (3) year from the date of
purchase on all components except electrical components including but not limited to, motor, switch, wiring and
resistor. Electrical components are warranted to be free from defects in material and craftsmanship under normal use
and service by the original consumer purchaser for a period of One (1) year from the date of purchase. The warranty
is null and void if the system has been damaged by accident, improper installation, unreasonable use, lack of proper
maintenance, unauthorized repairs or modifications, or causes not arising from defects in materials and
craftsmanship.

Couper’s Products obligation under this warranty are limited to repair of the product at Couper’s Products production
facility, or the replacement of the product at Couper’s Products option and at Couper’s Products expense. Any expense
involved in the removal, reinstallation, or transportation of the product is not covered by this warranty. Prior to return
of any product to Couper’s Products customer must contact Couper’s Products customer service, (802) 294 0016, and
obtain a Return Authorization Number. This number must be marked on exterior of carton for easy identification.
Warranty product received at Couper’s Products without a Return Authorization Number may be returned at expense
of sender.

Postage must be prepaid, and the original dated proof-of-purchase must be included. Couper’s Products will not be
liable for any damages sustained in transport due to improper packaging or handling. The acceptance by Couper’s
Products of any product returned shall not be deemed as an admission that the product is defective or in any violation
of any warranty.

This warranty is Couper’s Products only express warranty of this product. We reserve the right to make changes to
products and policy that are in the best interest of Couper’s Products. No implied warranty shall extend beyond One
(1) or Three (3) year period from the date of the original consumer (end user) purchase. Couper’s Products will not be
liable for any damages, for loss of use of this product, nor for any consequential damages, costs or expenses.

Some states do not allow limitations on how long an implied warranty lasts or the exclusion of incidental or
consequential damages, so the above limitations and exclusions may not apply to you. This warranty gives you
specific legal rights and you may also have other rights not mentioned here that vary from state to state.

After receiving a Return Authorization Number send defective product to:
Ice Crusher Heaters

23001 Industrial Blvd

Rogers, MN, 55374

888-964-0135

www.utvheaters.com ICCH-UH-C-HONP1000D Ver. 11/10/17







Align with factory rivet holes

Mark hole centers and drill holes
with 37 hole saw

4
\

. (
v N

O

Mark hole centers and drill
O holes with 7/16 Drill Bit O

Please note: Before drilling any holes check area
behind firewall/dash panels to make sure no
damage or interference with equipment will occur by
drilling holes and fitting of vents.

18+Honda Pioneer 1000 Deluxe
Center Vent lemplate







'S3UaA 40 Bupyly pue saoy Bunipe

AQ JNDD0 NIM JuawWdiNba YaIm 3dusJa4433ul JO 3beweK
OU aJNs yew 01 s)yaued ysep/1emads ouiyad

eaJe MD3yDd s3)10y Aue BunHpe 24043 210N 9Seald

Nomadly o aup Buginow yim ubny

apls siyz p4odsip ‘auny Buoyo 3n)

a0y
FUSA HY SuUy
404 J31UaD

310y oW

31L0)dWa | LU A
A3MOT HT 000] 433UOI4 VRUOH







'S3UaA 3O Bupgly pue sajoy Buppe

Agf JndD0 M ruawdnba yam adusua44a3u) 4o abewep
OU 2JnNS 2yew 03 s)aued ysep /1emadls puiyadg

e3aJe »Dayd sajoy Aue Bunp 24043g 230N aseald

nomadly o aup Bupnouw yim ubny

210y apls siy3 pJodsip ‘aul Buoyo 3n)
FUBA HY oYy
404 Jdol1ruUaD

310y Hol

abpa nomadly ouz yiyim sBpa siyyp ubhy

2101dWa | LU A
A3MOT] HN 000] 423U0I4d VRUOH






UOI}D07 BULUNOW JajbaH Aioulld

UOIIDD07 BUILUNOW Jo10aH S1oUuISlY

>3

UOI}D07 BULUNOW JajbaH Aioulld

UoI}0207 BUILUNOW JoJ0oH S10UIS]Y

E_@

E_@

E_N

N2eyd BUDIS Jomld

E_F

"MOJaQ
UMOUS UOI}0D0| Buljunow aipuldlly oyl asn Ajiybis pajil oq
1SNW JB1DaY 8y} 9SO SIY4 Ul "UoID0| Bultlunow Alowid 8yl

BuISN UBUM Ja1DaY BUi YiM 8laldlul SOSOH a3 DLul JIyY SWOS

:J1ON INVLIJOdWI

alp|dwa] Bullunow JaloaH




	Honda Pioneer 18+1000 Deluxe Ice Crusher Heater Install Instructions 
	Center Vent Template
	LH Lower Vent Template
	RH Lower Vent Template
	Firewall heater Template (2016_08_11 02_26_34 UTC)

